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ARITHMETICAL ABILITY

1. A General, while arranging his
men, who were 6000 in number,
in the form of a square, found
that there were 71 men left over.

How many were arranged in each
ow 7

(1}73 277

(3) 87 (4)93

g, Anumber, when divided succes-
sively by 4, 5 and 6, leaves re-
mainders 2, 3 and 4 respective-
ly. The least such number is
{1)50 (2)53
(3158 (4)214

9. Anumber, when divided by 296,
gives 75 as the remainder. If the
same number is divided by 37

then the remainder will be
(11 22
(319 (4131

4. The square root of

{“-733 2
e [u.?s +(075)% + 1] is

(1)1 (22
(33 (414

B. The sum and product of two num-
bers are 12 and 35 respectively.

The sum of their reciprocals will
be
1 1
g @3
12 35
3 35 @ 15

a8 If a2+h2+~%+%=4. then
a b

the value of a2 + b* will be
1

1 (2) IE
1

(B2 (4 2-2'

I 2
7.0 [x+—] =3 then
x

[ +-x%] is equal to

(13 22
31 (40

8. 0.1 % 01 % 0.1+ 0,02 x0.02 x0.02
02 x 0.2 x 0.2 + 0.04 x 0.04 x 0.04
is equal to
(1)0.125 (2)0.250
(3)0.500 (4)0.855

1
B If x-l-:“ﬂ. then the value of

100

X +.xl—mj‘ 15
(12 (20
(3)1 4-2

10. f @ + 322 + 3x =7, then x I8

equal to
ma 2 %6
(31 (4)-1

2
1. If EX+;=1, then the value of

g 1
x° 4+—1i8
2
y3 n
”E 8
1 iy 38
© 3 8

12. The greatest number among

J5.94.92,13 1s
¥ @ 73
3 J5 4 ¥2

13. #{mﬁﬂﬂ}""-uaﬁgz}z Is equal
to

(1) 0.6 (2)0.06
(@18 {4)2.6
[_l—+_’—+ L ]
14, |15z 23 Taxa T 8ax100

is equal to

1 o9
(1) 5500 100

100 1000
IBHE!? 4 99

18. The sum of all the digits of the
numbers from 1 to 100 is
(1) 5050 (2)803
(3) 201 (4) 900
16. A shopkeeper sells sugar in such
a way that the selling price of
950g of sugar Is the same as the
cost price of 1 kg of sugar. What

is his gain per cent ?
B 1

LK

(35 @ 415

17. A person bought a horse and a
carriage for Rs. 20000. Later, he
sold the horse at 20% profit and
the carriage at 10% loss. Thus,
he gained 2% in the whole trans-
action. The cost price of the
horse was
(1) Rs. 7200 (2)Rs. 7500
(3) Rs. BOOO
(4) Rs. 8000

18. Asells an article to B at 15% prof-
it. B sells it to C at 10% loss. I C
pays Rs. 517.50 for it then A
purchased it at
(1)Rs. 500  (2)Rs. 750
[3)Rs. 1000
[4)Rs. 1250

19. An article Is sold at a certain fixed

2
price. By selling it at3 of that

price, one loses 10%. The gain
per cent on selling it at the origl-
nal price is

1
33=
(1)20 (2) 333

(335 (4)40

20. A sells an article to B for Rs.
45,000 losing 10% In the trans-
action. B sells it to C at a price
which would have given a profit
of 10% to A. By what per cent
does B gain ?

100

75
e TR

200
B~

150
@5
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2L mmmnﬁmm;.m
ofits price for sale, How
e
of 12% = & discount
M0 @y
310 48

on prices of ready-male
BArmenis at the time of sale. If a
purchaser needs to have a rebate
of Rs. 400, then how many
shirts, each cosling Rs. 320,

should he purchase ?
o @7
(36 (4)5

23. A merchant purchases a wrist-
watch for Rs. 450 and fixes iis
list price In such a way that after
allowing a discount of 10%, he
earns a profit of 20%. Then the

Ust price (in rupees) of the wrist-
watch is

(1) 500 {2) 600

{3) 750 {4) 800

24. A reduction of 10% in the price
of tea enables a dealer to pur-
chase 25 kg more {ea for Ra,
22500, What is the reduced price
per kg of tea ?

{1)Ra. 7O {2)Rs. 80
{#Rs. 80  (4)Rs, 100

Ram donated 4% of his income
to & charity and deposited 10%
of the rest In a Bank. Il now he
has Rs, B640 left with him, then
his income is

{1) Rs. 12,500 (2) Rs. 12,000
{3) Rs. 10,600 (4) Rs. 10,000
If the length of & rectangle is in-
creased by 10% and its breadth
is decreased by 10%, then its
area

(1) decreasca by 1%

) increases by 1%

[3) decreases by 2%

(4) remains unchanged

Three spherical balls of radi 1
cm, 2 cm and 3em are melted to
form & single spherical ball. In
the process, the loss of material

Is 25%. The radius of the n
ball is .

Wéem  (H5em
h.t?ahm 412 em
h:H-E;E,B:ﬂ.g.a and
C:D=5:g, D1
o then A : D is equal

(111:17 (Y8:37
J3)6:8 Ha:8’ :
“29) 1f the length of a rectangle is In-
creased In the ratio 6 ; 7 and its
breadth Is diminished in the ra-
tlo 5 : 4 then Its area will be di-
mindshed in the ratio
(17:16 [215:14
{®9:8 #8:7

80, 7 years ago, the ages (in years}
of A and B were in the ratio 4
and 7 years hence they will be in
the ratlo 5 : 6, The present age
of Bis
(1)56 vears (2] 63 years
(3 7Oyears (4] 77 years

81. Two numbers are such that their
difference, thelr sum and their
product are in the ratioof 1:7
24, The product of the numbers
s
(124 (2) 36
i3 48 (4] 60

23, A, B. C are pariners in a busi-
neas. During a particular year, A
recetved one third of the profit,
B recetved ane fourth of the profit
and C recedved the remaining Ra.
BO00, How much amount of mon-
ey did A recetve P
(1) Rs, 1000 (2] Rs. 3000
{¥ Rs. 4000 (4] Rs. 5000

83, Three horses are tethered at 3
corners of a triangular plot of land

aldes 20m, 20m and 40m

each with a rope of length Tm.
The area (in m?) of the region of
this plot, which can be grazed by

22
the horses, Is [T-Tﬂ": “'7]

77
[“E (275

@77 {4) 8O

a4. A wire, when bent in the form of
a square, encloses a reglon of
area 121 cm?. If the same wire
Is bent Into the form of a clrcle,
then the area of the circle is

r-

(1) 150 cm? (2} 152 cm?
3154 em®  (4) 150 em®
38. The ratlo of the area of a sector
of a circle to the area of the clr-
cle is 1 : 4. If the area of the
circle is 154 cm?, the perimeter

D L

of the sectar Is

(1) 1843

@288 Wa0fs
57, If a sphere of radlus ris d

into four identical parts, they

mt.glaurl'uumnﬂhthu :

-]

(1) 4n@ squareunit "

{2) 2nr square unit

{3) Brr® square unit |

{4) 32 square unit |
38, A sum of money, deposited y

some rate per Cent per annumy

interest, doubles

in 4 years, In how many yeay
will it become 16 times of Hag

at the same rate 7 !
(1) 16 2)12 ,
(310 48

88, What Is the dilference ml

the compound interest and sim.
ple interest on Rs, 4000 at 5%
per annum for 2 years 7 |
(110 (2) 11 !
(3120 (4) 100 |
40. The simple and compound inter-
nulannnsumul'munq.rﬁurﬂm!
are Rs, B400 and Rs. BB52
spectively. The rate of interest
per annum is
(1) 6% (2) 7.5% |
3] 5% [4]4.5.0 |
41. A man can row against the cur
rent three-fourth of a kilometre
in 15 minutes and returns the
uam:dhmnmlnmmlnmmi

ratio of his speed 1o that of th
current is ]
(N3:5 25:3

@1:5  [@5:1 |

42. Two places A and B are 100 km |
apart on a highway. One cal
starts from A and another {rom
B at the same time. Il the car
trm:ltnth:aam::lh‘ttﬂnnﬂl;
conatant speed, they meet In
hours. I the cars travel toward?
each other, they meet in 1 hour
What Is the speed of the car rum-
ning faster ?

(1) 60 kmyhr. (2) 50 kam/hr.
[3) 40 km/hr. (4) 32 kam/hr.

e
et
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., clentthanA. The number of HHH+E-E‘MM+E s o
oy I_imatﬂ_wﬂltnke mm-lﬂﬁﬁ:ﬂm equal to d luu_l e

mmt in4 28 } D :

1 39 12
(16 @75 l‘:’ W32q ' W3-a2a
Bl If x=(J2-1)2 then 80. mmmnﬂu’mm'
38 (@) 81 faiya-] the value 2,357 11, e 17,19 18
; 2 . 1 {1186 @15

“mplpcﬂmﬂ]lancmwmn]; u{[ -—2] is (314 )13

separately in 24 minutes and 40 * 80. The wrong number In the se-

pj]:;:r[::c!: ;j.l'ﬂnpts; Elfq'angﬂong of 8, 13,21,32,47.63,831s

wal ute. e three (3) 2.2 (4) - (1132 (2)47

plpes are open, empty tank be- a 3 @63 (4)83

comes full in one hour. The ca-

ﬂ,_,ﬁ.m]:bmplctcn

plece of work

pacity of the tank (in gallons) is 5. 303430 5)

(1) 800

is creased by 20%, the number of
(2600 equal to toys sold was decreased by 15%
(3) 500 (4) 400 2 1 What was its effect on the total
45. A batsman, in his 12th innings, BT @7 sales of the shop ?
makes a score of 63 runs and 1 ] (1) 2% increase
thereby increases his average 3= 4 = (2) 2% decrease
score by 2. The average of his f B (3) 4% Increase
bt gy g 2 (087)° + (013 (4)4% decrease |
46. gf;-mmstn:ﬁ that divides o aulio :mﬁrmﬁlgdmﬁzﬁf . 60 lnns
43, 91 and 183 au'astolcaw. 1_1_ he would have made a profit of
the same remainder in each case, M3 @2 32%. The cost price of the horse
is ! was
me (28 @1 4 2% ()Rs. 370  (2)Rs. 372
(3)4 (43 (3)Rs. 375 (4)Rs. 378
B4. If @ + f - 2x + By + 10 = 0, 63. Asells an article to B at a gain of
7 then the value of (2 + P) Is 25% B sells it to C at a gain of
47. is equal (14 216 20% and C sells it to D at a gain
Jlﬁi'ﬁﬁ-Jla-'ﬁﬁ - 38 {4) 10 of 10%. If D pays Rs. 330 for it.
(1)Rs. 200  (2)Rs. 250
m @i V7 BB - B8 -7 (3Rs. 275  (4)Rs. 290
2 3 Is 64. By selling an article for Rs. 21, a
] 1 [1]‘,'-?_‘{5 mﬁ_ﬁ man lost such that the percent-
ISZII {4]3 age loss was equal to the cost

48. The sum of the areas of the 10

BJE-7 @WJ-Jo

squares, the lengths of whose B6. If x1/3 4+ yl/3 = z1/3 then

sldes are 20 cm, 21 cm, ..eee

29 cm respectively is

~ (1)6085 cm?
(2) 8555 cm?
(3) 2470 cm?
(4) 11025 cm?

48, The square root of

9.5 0.0085 =

18.9

00017 x19x21

(1)15
(375

(2)45
(4)225

then y is equal to

oD

(3 21
4 3
5 (¥3

87. If J?J?J? 7. =(343} )

price. The cost price of the arti-
cle was

{1)Rs. 30 or Rs. 70

{x+y—z]5+2'hyzm'cqua1tn (2) Rs. 35 or Rs. 60
(10 gy ' (3 Rs. 45
[3)-1 (@) 27 (4)Rs. 50

@8. Half of 100 articles were sold at
~ aprofit of 20% and the restata
profit of 40%. If all the articles
had been sold at a profit of 25%,
the total profit would have been
Rs. 100 less than earlier profit.
The cost price of each article was
(1)Rs. 10 (2)Rs. 15
l (3)Rs. 20 (4)Rs. 30
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| 88. The marked price of a clock is

Rs. 3200. It Is to be sold at Ras,
2448 at two successive discounts,
If the first discount Is 10%, then
the second discount is
(1) 5% (2) 10%
(3) 15% (4)20%

67. A dealer marks his goods
above his cost price and mg:a;ﬁ
lows 15% discount on it. What |s
the cost price of an article on
which he gains Rs. 84 7
()Rs. 800  (2)Rs. 560
(31 Rs. 373.33(4) Rs. 280

68. A shopkeeper wishes to give 5%
commission on the marked price
of an article but also wants to
earmn a profit of 10%. If his cost

price Is Rs. 95, then the marked

price is
{1)Rs. 100 (2) Rs. 110
(3)Rs. 120  (4) Rs. 130

88. Krishnamurthy earns Rs. 15000
per month and spends 80% of it.
Due to pay revision, his monthly
income has increased by 209,
but due to price rise, he has to
spend 20% more, His new sav-
Ings are
(1)Rs. 3400 (2)Rs. 3000
(BYRs. 4600 (4)Rs. 4000

70, Two numbers are respectively

1
125% and 25% more than a

third number. The first number
is how much per cent of the sec-
ond number ?
(1)80 (2)87.5
(3125 (4)12.5

71. Population of a town Increases
2.5% annually but Is decreased
by 0.5% every year due to mi-
gration. What will be the percent-
age of increase in 2 years 7
(1)s (2)4.04
(3)4 (4)3.96

72. 72% of the students of a certain
class took Biology and 44% took
Mathematics. If each student took
at least one of Biology or Mathe-
matics and 40 students took both
of these subjects, the total num-
ber of students In the class is

2
ofAls E of the combined share

of B and C. A will get
(1) Rs. 200 (2)Rs. 300
(A Rs. 320  (4)Rs. 420
74. The sides of a right-angled trian-

gle forming right angle are in the
ratio 5 : 12. If the area of the

triangle is 270 em?, then the

length of the hypotenuse Is
(1)39 cm (242 cm
(3)45 em (4)51 em

78, Two numbers are in the ratlo 5 :
8. If their H.C.F. Is 4, then their

L.C.M. will be
(1)80 (2)96
(3120 (4) 150

78. fa+b+c =1and ab+ bc+ca

1
-"H—ihcnn:b:cls

mr:2:2 @2:1:2
(31:1:1 (41:2:1

77. A and B enter into parinership
with capitals in the ratio 5 : 6. At
the end of 8 months A wirhdraws
his capital. They received profits
in the ratio 5 : 9. B Invested the
capital for
(1)6months (2} 8 months
(3} 10 months (4) 12 months

78. What is the length of the radius
of the circum-circle of the equi-
lateral triangle, the length. of

whose side is §,/3 cm ?
(g3 cm (26 cm

(5.4em (4 3/ em

79. Ifthe measures of a diagonal and
the area of a rectangle are 25 cm
and 168 em? respectively, what
Is the length of the rectangle 7
(1)31 cm (2)24 em
(317 em (4)7 em

80. The number of coins, each of ra-
dius 0.75 cm and thickness 0.2
cm, to be melted to make a right
clrcular cylinder of height 8 em
and radlus 3 cm, is
(11640 (2) 600

2 1[13_]501.‘.' (4) 480

« Il the radius of a sphere -

creased by 2m, itg anmEEarI;la
18 increased by 704 m?, What jg

(1200 (21240
73, Elffﬁm (4) 320 the radlus of the original sphere?
are divided among A, B _ 22
ﬂld':mmehawayﬂmtﬂmggtmm {U“’“ "'-;_]
?"—'——h.____‘_'_._____ —
— STNE-40 L—_

(1) 16 m (2015 m
(@14 m (413 m

B83. A right circular cylinder Is
scribing a hemisphere such
thelr bases are common. The ry,
tio of thelir volumes Is
(N1:3 21:2

2:3 (4)3:4

1
83. A man Invested 3 of his capjty

1
at 7%, ry at 8% and the remajn,

ing at 10% rate of simple inter.
est. If his annual income frop
Interests is Rs. 561, the capity
invested was
(1) Rs. 6000 (2Z)Rs. 5600
[3)Rs. 6600 (4)Rs. 7200

84. The compound Interest on Rs,
6250 at 12% per annum for |
year, compounded half-yearly Is
(1)Rs 772.50 (2)Rs. 772
[3)Rs. 672.50(4) Rs. 672

858. Asum of money lent at compound
interest amounts to Rs. 1460in
2 years and to Rs. 1606 in 3
years. The rate of interest per

annum is
(1) 12% (2)11%
(3) 10.5% (4) 109

If A travels to his school from his
house at the speed of 3 km/hr,
then he reaches the school 5 min-
utes late. If he travels at the
speed of 4 km/hr, he reaches the
school 5 minutes earlier than
school time. The distance of his
school from his house is

(1)1 km (2)2 km

(3) 3 km (4)4 km

A train travelling with a speed of
60 km/hr catches another traif
travelling in the same direction
and then leaves it 120 m behind
in 18 seconds. The speed of the
second train {s

()26 km/hr (2) 35 km/hr
(3)36 km/hr (4)63 km/hr

88. Aand B together can completed
Plece of work in 12 days and B
and C together in 15 days. IfAlS
twice as good a workman as G
then In how many days will B
alone complete the same work
(1130 (2) 25

(3)24 (4)20

87.
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9. 4 men and 6 women together can (1)17 (2) 20
gmen and 7 women togethercan | i 1f the total income
complete ittln 10 da-.};.ili 20 wom- was Ra. 1,560,000 thﬂ:nﬂ;:fanﬂly nl L@ 2.4 | 3 4. (2) |
:‘m‘"“‘“"g pfeier Wil compiete ey spent an food was 5@ 6@ | 7@ | 8
{1136 days  (2)32 days (1) Rs. 20,000(2) Rs. 23,000 9. (1) | 10.(3) | 11.(2) 12. (3
(3)24 days (4120 days (3 “'“'u 3“-““::1 B 3000 3.0 | 1s.@ | 18- | 16-11)]
00, The average of two numbers A | 1, mm‘m“::l‘ 1““}&13;‘:5“1"“ 7.5 | 18. () | 19.[3) | 20-(3)
and B is 20, that of B and C s | y5ng answer these ques” | o1 @ | 22.@ | 25.(2) | 2408
10and of Cand Aitis 21. What 27 28, (2)
is the value of A ? 26. (4) | 26. (1) . (3 T
(124 (2)22 E Persons killed In industrial aceident 2e.(2 | 30.(4 | 31. 09
(320 (4)18 . Persons killed in coal mines 33.(3) | 34.(3 | 38 2 36. (2)
Direction (91-88) : The ple chart S 37.(3) | 98. (1) | 38.(1) 40. (1) |
e e Wl o] N KN
Lk
and answer these questions, g oot 9. (1) | 50. (3) | B1.(1) | B2.(2)
PERCENTAGE OF MONEY SPENT | < 53. (3 | 64. (4) | 65.(2) | B&. (1)
m:ﬁfﬂgﬂﬂl'l;?ﬂﬂﬁﬂgﬂm E 600 87. (31 | 58. (4) 50. (4) 80. (2)
KPANEICT CHORENG SN g o 8L (1 | 62.(3 | 63 () | &s. (1)
Z 200t [4 85. 3) | 66. (3) | 67.11) | 68.(2)
1Al El | 8. | 70.(1) | 7.2 | 72.13)
006 2007 2008 2008 T3, [2] =4, {n 75. IS', 8. l:'“
©96. The number of persons killed in 77.14) | 78. () | 79.(2) | 80.(1)
oxal mines in 2006 was what per | | 53+ (41 | 83 (3) | 83. (3} 84. (1]
cent of those killed In industrial ga, [4) | 86. (2) | 87.(3) 88. (4]
ﬂdﬂ‘“ i, “‘*{;ﬂjgﬁf? g0, 14) | 80. (2 | 91.(1) | 92.13) |
:3; % g 93.(2) | B4, (@) | 95.(4) | 96.(2)
i e veak Al 97. (@) | 98. (1) | #8. (2] [100.(3)
of persons were killed in Indus-
g1. If the total income of the family Uigpfﬂﬁd;ﬂlts and coal mines g E_KPLANATIDNS E
for the year 2009 was Rs. together ? -
1,50,000 then the difference be- (1) 2006 (2) 2007 1. (2) Number of men arranged in the
tween the expenditures on hous- (312008 (412009 form of a square
Ing and transport was = 6000 - 71 = 5929
§8. Inwhich year, maximum num ber .
(1)Rs. 15,000 ofpermnswrehﬂkdmlndus— s MNumber of men arranged In
[2) Rs. 10,000 trial accidents other than those each row
(3) Rs, 12,000 killed in coal mines 7 = J5929 =77
[4)Rs. 7,500 (1) 2006
B2, Maximum mq:emﬂmm'mcram- (2) 2007 2. (4) _4|x Remainder
ily other than on food, was on (3) 2008 5ly-2
(1)Housing  (2) Clothing (4) 2009 6 z2-3
(3) Others 99. In which year, minimum number 1-4
{4) Education of children of persons were killed in coal
83. The savings of the family for the mines other than those killed in z=6x1+4=10
vear were equal to the expendi- industrial accidents ? y=56x%10+3=53
ture on (1) 2006 (2} 2007 x=d4x53 +2=214
(1) Food (2) Housing (3) 2008 (4} 2009
(3) Education of children 100. In a year, on average. how many R FQUEMF Approach ]
4) Clothing persons were killed in industrial If the first divisor s a multiple of
™, The percentage of the Income aoddtntsandamlmMng&h- second divisor, the remalnder
which was spent on clothing, er ? obtained by diving the same num-
education of children and trans- (1)121.25  (2)1212 ber by second divisor = remain-
port together is (3)1212.5  (4) 1000 der obtained by dividing the first
_— = STNE-41l —
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remainder by the second divisor.
Here, 206 + 37 = 8

~ Required remainder = Remain-
der obtained by dividing 75 by 37
=1

{075
42 — s +[I0752 + 075 x1+1]

= 075" + 1 -0.75[0.75F + 0.75x 1+ 17
1=075

(0.75° +1° - (0.75°
= 025

[+: l[a=-bl (a®+ab+ B

- - b

1 1 100
“1-075 025 25
s Squareroot= Jq =2
BEx+y=12 siibeansally
xy =35 Y

,_,JE:.H
v

=4

n:-—
|

=a=hw=zl
s+ bPR=1+1=2

[Quicker Approach |

By oral calculation,
a=hb=4+1
s +P=1+1=2

1
74 [x +}~]2—

=X +-!--FJE
x

_—'————_____"___-——____——____.

- (48 -3/5

= 3/3-3/3=0
8.(1) If 0.1 = a then, 0.2 = 2a
and 0.02 = b then, 0.04 = 2b
. Expreasion
axaxa+bxbxh
" 2ax2ax2a+2bx2bx2b

a¥+ b? a® + b7 Sk
Eq-ﬂh! B{a1+bsl

B (1) —]-—=2

(1) x+ =

241
i I; =2=x?-2x+1=0

=[x-112=0
=x=]

- I00 4 ?{E-=1+]-ﬂ

| Quicker Approach |
By aral calculation,

1
+?m— l+l=2
10.(3) 2+ 32+ 3x=7
= +82+83x+1=T+1=8
=[x+ 1) =22
=x+1=12
=x=1

x=1 - xlﬂﬂ

2e+ 2=1
11.(2) 2x+ =

o)

180 1=1% - 1
"8 2 8 &
12. (3) LCM of the orders of the surds
= LCM of 2,3,5 and 7 = 210

1 105 1

1 70 1
43 = 4210 . [4?“}%

[l.-—-1-+-!——-1-+
= 3

1 432 1
25 w3310 » [:“]ﬁ

1 a0 1
a7 = 3210 = [3”]:[9

. The largest number
1

= E-E - JE

[ Quicker Approach |

5 Is the largest radicand and its
order is amallest.

Largest number = J5
13. (3) Expresalon

= Y12608) - (13.392)°
= {13608 + 12392)(13.608 - 13392
= ¥27x 0216
27x216 ‘.EI:-:E 18
i 1000 10

14. (2) Expression

1 1

L 1
273 E-Iﬁ'......m 100

1 _100-1_ 99
100 100 100

18. [3) Sum of unit digits of numbers
from 1 to 99,
=101 +24+3+...

9x10
2

ﬂ.l-

+9)

=450

= 10 %

= [-.=1+2+3+...,+n="—m§—1]}
Sum of ten's digits of numbers
from 1 to 99
=10(1+2+3+...9 =450
Sum of digits of 100 =1
Required sum = 450 + 450 + 1
= 801
18. (1) Profit per cent
True weight = False wetght o5
n False weight
1000 - 950
" 850
100 5

-E--—

19 19

w100

STNE—42




17.(3) If the CP of horse be Rs. x, 195x 88 27. (3) Volume of the new ball .
then = Rs. [_)-Rn. 110 4
CP of carriage = Rs. (20000 - x) 100 _%xgnlzrf+rf+r§'}
120 00 + Galn per cent = 10
——+(20000 - x) % —— 22. (4) Discount at the shirt cos
. ¥*700 "¢ 700 inl.aau i = (13 +27 +9%)
7000 102 320x25 =x(l+8+27)
a "100 =Too % = 36 cublc cm.
= 120x + 1800000 - 80x + Mumber of shirts for a rebate 4
= 2040000 e 400 Y ar® = 36n
= 30x = 2040000 — 1800000 - 400 = —oo-
= 240000 23. (2) If the marked price of the iy SOES gy
240000 wrist watch be Rs. x, then
e =i, 200 00 _ 450%120
£ X = =540 sr=¥27 =3 cm
18. (1) If an article is old to B at x% 100 100 L A
Jloss and B sells the same 540100 28, (2) —X—K—=XoX—
to C at y% profit/loss, then C's ﬁx=T=R=.Eﬂﬂ B CD 23 6 9
- 24. (3) Let the original price of tea be A_8
=A's CP 100 x 1m_ 0u J
= —_— 29, Quicker Approach
~ AsC.P.=CsCP New price = Rs. [m]mﬂ (2 |
Required ratlo
lm][lﬂﬂ] 22500 22500 s g
-] = m 25 = 0 X O x
100+15)|100-10 K - T
100 100 10 30. (4) 7 years ago, A's age = 4xyears
=517.50 % ———X—=— =Rs. 500 10 1 and B's age = bx years
115 ~ 90 F,ﬂasuu[——m]ﬂﬁ
18. (3] Let the C.P. of the article be Ox x _4x+14 _5
Rs. 100. " Bx+l4 B

p |
= S.P. of the article = i a0

. 8.F. of the article

80x3
7 =135

=~ Profit per cent at the original
price = 35

20.(3) A'sC.P.
_ 45000% 190 _ Rs. 50000
a0
o B.ﬂ'er
110
= m){-—-——
100
= Rs, 55000
. B's profit per cent
10000 200
45000 2]
21 (3) C.P. of the article = Rs. 100
*» Marked price
100x% 100
8 — 125
8D Ra.
SP after the discount

10-9
29500 —— |= 25
= [ 9x ]
= 22500 = 25 »x Dx
22500 _
=X=25x9
- New price
%Hlﬂﬂ: Rs. 90 per kg.
25, (4) Let Ram's Income = Rs. 100.
Donatlon to charity = Rs. 4
Amount deposited in bank

86 =10
= = Rs. 96
100
Savings = 100 - 13.6 = Rs. B6.4

.- Rs. BB.4 = 100

100

-

100
; = ——x 8640
~ Ra. BG40 86.4

= Ra. 10000
28. (1) Effect on area

" [u}ﬁm-“—m = w]%

100
= -1%
Here, negative sign shows de-
Ccreass.

= 20x+ 70 =24x + B4
=x=Bl-TD=14

- B's present age
=0x+T=0x14 + 7 =77 years

' 81. (3) | Quicker Approach |

(=10 : e+ ul : ay

=1:7:24=2:14:48

s Numbers = B and 6
32. (3) Total profit x

—_— ————————
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|  SOIVED PAPER-0y

SOLVED PAPER-03 |

33, (8) | Quicker Approach |

A

B c
Area of the reglon grazed

LA+ LB+ £C, o
= 360° (=)

M x?nx'?x?m?? 8q. m.

34. (3) Side of the square
=121 =11 cm
- Length of the wire = 4 x 11

=44 cm
& 2nr= 44

s ﬂxﬂ?ﬂlxr-*u

=r=7cm
-, Area of circle = nr®

o Ex?x?
T

= 154 sq. cm.
3B. (2) Angle subtended at the centre
by the sector = 90"
Area of the circle = 154
s omre = 154

=’¥xrg=154=”2_154>¢?

L r=7cm

]
* Length of the arc = yom X A7

90 22
= EX—?—KTEII cm
<« perimeter of the sector = 2r + |
=2 x 7+ 11=25cm
36. (2) If the edge of the cube be x
cm then,

\‘EIIE
=243
=S X= :’it 3 cm
v ‘."i:l:l.l.l:l‘.l:,tI qfthe mbﬂ “fﬂdg:]ﬂ

= 2/3x2/3x2/3

= 24,3 cm®

37. (3) Required total surface area
=4nr + 4 x nr?
= Bnr? sq. unit

R 4
88.(1) 2 = 1[1+E-J

8
*. +_|_
= 20wl (1 100

s T= 16 years
Note : If a sum becomes x times
In y years at CI, then it will be x*

times in ny years.
39, (1) Difference

- principal () =40007(%5)
= Rs. 10

40. (1) Difference = Rs. (8652 - B400])
= Rs. 2562

Rnr,eugc—s}—*—’”m

x 100 = 6%

2x252
B400
41, (4) Speed of boat in still water = x

kmph
Speed of current = y kmph

3
4 3 a

X+ Y= -1%-=IH5=E ........[.l.'u
60

From equations (i) and (11),

From equation (1f)

2 4 4

42. (1) [ Quicker Approach |
Y kmph

x kmph
Aw *H
When are moving in the same
dlmut;f[x: y) then
[x-y) % 5 =100
= x-y=20
When they are moving In the op.
posite directions, then
{.t""' y] - lDU ....[IJ}
Adding these,

120
2x= 120 = x= —5 = 60 lanph

43. (2) [Quicker Approach i

Ratio of their efficlency
=100:160=5:8
-+ Ratlo of time taken =8 :5
.~ Time taken by B

15 1

5
ne — T = —
= 12x 5 =75 days

44. (2) Capacity of the tank
=Igﬂ]lﬂn5-
.. Part of the tank filled In ]

minute

% :
= 55 = 30= x =600 gallons

48. (1) Average of the batsman upto

11th innings
=683-12%x2 =230
- Required average = 39 + 2
=41

48. (3) Required number
= HCF of (91 - 43), (183 - 91)
and (183 - 43)
= HCF of 48, 92 and 140 = 4

47. (1) Expression
J7
" Y16+ 6V7 - 16-6/7

= ‘E —
VO+7+2x3%7 —Jo+7-2x3x7

—
——




BL (1) x= [,E- ]]-%

=ﬁx_==ﬁ_l
.- o < x"EH
“¥= Bl da-1, va+l

= 42 +1

1
.u-x'i-—ﬁ-l

& xﬂ-%=ﬁ+luﬁ+1 =2

B82. (2) Expression

)
= ‘IixExExEx_]f—-

il a5 A O | o e
[in +[yﬂ] +3.x3,y3|x? +y? =2

111
s x+y+3.x3ydzi=z

111
LXEY—E= -3x3,y3.z3

Cubing again,
(x+y-2°=-27ag
= (x+y-2°+27qz=0

B7. (3) Let x = TJ?'J;J?_

Dngquaﬂngb:rthuldu.

H2=Tx

STNE-46
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F B3. (3) If 0.87 = aand 0.13 = b then, o B-Txa0=xx=-7=0
=x=7 ;
T i 3,13
= (3+<ﬁ}-'{3 ""ﬂ Ebtptrmlun- miﬂ—%b—-# 1._-;_[-;01,—4 -T.'l.nl-;l
1 =3y=4
- = 2,52 y
=S -3+41 2 ; last)fa®+¥-at) 4
48. (1) Required sum = 207 + 212 4 a+b* -ab =y=3
_..-1-'29:' =a+b=0B87+013=1 B88. (4) -
' ..[1’+2=+.~--+292]-[12+2=+ B4 (4) 2-2x+ 1 +6y+10=0
w1 =2 -2x+ 1+ +6y+98=0 =a=2
29(29+1)(2%29+1) =[xu111=+{y+3:ﬂ.n it ey
e\ 5] =x=1=0=xm=] 4
and, Y+ S =0 j =<3 From alternative (4)
-!1“9”15“19”} . B+P=1409=10 a-1 _ 2-1
3-22 3-2J2
2 _nin+@n+1) J7 - JB)J7 +5
[.1 -1-".l.|"='|'---4'|'l= 8 B5. (2) ﬁnﬁu{ }F;E:HJ_ ﬂ ) JE'—I Ka_'_gﬁ
= 8555 — 2470 £ 3-22 3+242
= (085 sg.cm. 2
m[l}ﬂ:xpre:ﬂim =7 +45 } 3/Z-3+4-2/2
95x 00085 %189 Sy, Y 9-8
= "00017 x 1.9 x 21 JE-.E;T_T = 1442
=225 Axad 50, [4) It is sequence of first prime
.. Required square root 9 -7 = 2 numbers.
= Jo95 =15 4] :|'9+J; 80, (2) B+5=13
2 13+ 8=21
50. (3) [ Quicker Approach | E‘E=m 21 + 11 = 32
1. g Largest number = /5 - /3 32 + 14 = 46 #[47]
1r+'§;_ because its denominator is the 46 + 17 =63
' 3 smallest, 61. (1) Effect on sale
Multiplying both sides by 7V sa [1]{!]1.11&]:&1 ﬁppmach] [ Eﬂxlﬁ}ﬁ
=|20-15-
have ' 100
SR
1 3 3 o ud =D = 2% increase
Ax+—=6x==9 x3 4yd =23
82, th of ho be Ra.
2x 2 bing both sides, we have, (3 If l‘:l::lf’l:ll5 rae x
thmrtssF=TuT}x

3
MNew CP = Rs. [Ex)

JRILEIP

hlm
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then,
X% of 2880 = 2880 — 2448

2880 x x
2l -432
= T 100

= 232X100 ..
= 2880
67. (1) [Quicker Approach |
CP of article = Rs. x

+» Marked price

_130x _ o 18x
100 10
S.P

_13x E= 221x
10 100 " 200
221x 21x

. —-x=84 —

_B4x200 Rs. 800

o T

88. (2] Marked price = Rs. x. then,

xx 85 o 95x110

Too 100 —*=Rs.110

—
_'___'_-___

=72 + 44 - 100 = 16
if the total number of students
be x, then

xx16 4000
=40 x=a . 280
100 =X e

73.(2) A:B+C=2:5

PO -_f—xmsn= Rs. 300

74. (1) %Khasexhd@t=m

:%Kﬁxxll\':ﬂ?ﬂ

#W-ﬂ?ﬂ=ﬁ-gax.3
s Two sides = 15 and 38

Fp pﬂ. “ib:'!‘hz
- T3 95% < (TETTE0

= 41521 = 39cm

(3) Numbers = 5x and 6x
HCFax=4
WLCM=6x8x x
=H6x8xd4=120

' SOIVED PAPER-03 } —
b+ec=1, i
89. (*) Initial expenditure of Krishna- | 78. (3) a+
83. (1) | Quicker Approach | " 1
ab + bc + m-g
A‘aﬂp-&&ﬂxigxiini?g -mmax%.n.. 12000 g
= Ra. 200 New income -[ﬂ+b+ﬂ1"ﬂ{ﬂb*h‘+‘
; 2 1
64. (1) If the CP of article be Rs. x. _15000%120 _ oo 18000 -1-3"3
then 100
x-ﬂlxlmnx New expenditure Clelrhf-ﬂ-b'ﬂ'g
12000 x 120 t:bh:cml:1:1
= x*-100x+2100=0 - T = Rs. 14400 =a:b:
= - 70x~- 30x + 2100 = 0 100 ] T (4) If B invested for  mong,
= x([x-70)-30(x-70)=0 -'.]:l:wal&vingl-lm' t:ma ;
[ - -ﬂ- o 'HEE[ x et
:: f:]?:i;n:ﬂs?ﬂ Note : It is not an answer cholce. 6xy 9
5. (3) Let the CP of each article be | 70 (1} First number =5 y = 12 months.
Rs. x 25 225
=100+ — =0
. BOxx120 50xx140 100xx135 ., 2 2 78. (2)
100 100 100 Second number = 125
= Eﬂx-l-I;ng 125x = 100 Required percentage
Bxm=m
225 _ 100 =90
100 o =
= Xx=——= Rs. 20 2x125 0
; 5 71. [2) Percentage of Increase
88. (3) SPafter first discount i s
90 =[2+2+ x J% = 4.04% D
= Eiﬂﬂxﬁ= Rs. 2880 100
72. (3) Percentage of students opting
If the second discount be x%, for both subjects

D = |(645)" - (345)'

=J108-27 =481 =9cm

- AD = §KE=E cm
[2:|F+b==625

b= 168
(l+B2=P+ B +2b
= 625 + 2 x 168 = 961

sSl+ b= “‘% =31
(l-bP =P+ b*-20b
= 625 - 168 x 2 = 289
A I-hl ﬁ = 1? ...-.-‘:r'+

From equations (iil) and (),
2l =48 '

el
ol

el

== ";'E=21-m1

(1) Volume of the cylinder ="
-nxﬂguﬂ-?zﬂmﬂ
Volume of one coin

=7 x (0.75)% x 0.2

. Number of colns

72n

T Ex075x075x02 o
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81. (4) [ Quicker Approach |
4n (r+ 2)° - an? = TO4

T
I'I#I_J'-I-E]I ﬂ-%
=rsdr+d-r

TO4 =7
= 4x22
=4r=56-4=02
=r= 13 metre

B3. (3] Required ratio _
= Volume of hemi-sphere : vol-
ume of cylinder

ﬂgﬂa tal=2:3

83. (3) If the capital invested be Rs.
x, then

=56

Bx 10

12
+
100

x x
Ex?+1xa
100 100

= Rs. 561
[SI Prm':ipalxnatcxmu:

100
Tx 2x 28x
= 300 100 1600 O
14x +12x + 25x

= 800 = 5&1

51
-ﬁf-—ﬁﬂl

B61 = 600

=X= 51

84. (1) T=2 hall years
" Rale=68% '

5 Cl= F[[I-n- ﬁ]ﬁ " 1}
e ] -1

= Rs, 6800

R _ 1606-1460

“ 100 1480
1461
1460 _ 10

1
~ R mxlﬂﬂ 10%

886. (2) | Quicker Approach |

If the distance between the
school and home be x km, then

= x=%x12=2 km

G0x5

87. (3) 60 kmph = [I_E-] m/sec

B0
=? mj'aec

Il the speed of second train be x
m/sec, then

50 20
B s e W |
= X=—~-—==10m/sec

[lﬂxlﬂJ kemph

= 36 kmph
BB. (4] A = x days, B = y days,
C = 2x days

3
y 12 wonl)

— — ] — .-..[Il'l

80. [4) Bx4m+Bwx B i o™
- 1ﬂx3m+?ulﬂw
= 2m = 22w
=lmws llw
s 4m + Bw = 50w

& MDy =MD,
=50x8=20xD,

Eﬂxﬂ=m

= Dg =

80. (2] A+ B=40
B+C=38
C+A=42
On addding,
DA +B+Cl=40+38+42
= 120
=A+B+C=060
~A=(A+B+C)- {E+[:]
II'EU 38 = 22
91. (1) Expenditure on housing and
transport
10
= 150000 x 100
= Rs, 15000
82. (3) It is obvious from the ple-
Food = 23%, Others = 20%
83. (2) Housing = 15%,
Savings = 15%
84 [4) Rﬂqu:lmdpcmmmge
=10+12+5
= 2700
88, (4) Expenditure on food

L 150000 %23
= Rs. [____.._lm ]
= Ra. 34500 -

88. (2) Required percentage

=25

= 1200
87. (4) Number of persons killed in
2009
= 800 + 200 = 1000
88. (1) It is obwvious from the bar dia-
gram.
Required number of the dead
= 1200
29. (2) It is obwvious from the bar di-
agram.
Required number of the dead
= 150
100. (3) Required average
_ 1500 + 1050 + 1300 + 1000
4

i ia;ﬂ-* 12125

2-1 5-4 1
= 6250 x 0,1236 = Rs. 772.5 ﬁﬁTWT.E‘—-EE
R} = x= 30
83, ["1' 1460 = lll-ﬁ'] ....[ﬂ qumuaﬂmf“‘
.3 3
9 — e — = —
0 12
lﬁﬂﬁ==P[1+i] b 30 "y
m.nmm,m 11 1 8-3 1
(18) bry (1 =y 12 30 60 20
Vi o 3500 . B will finish the work in 20
100 - 1260 o
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